Name Date

In addition to ALL of the definitions, properties, postulates, and theorems from Geometry, we will be incorporating
the following algebraic properties into our work.

Algebraic Properties of Equality

Let g, b, and ¢ be real numbers.

Addition Property of Equality Ifa=Db,thena+c=Db+c
Subtraction Property of Equality Ifa =b,thena-c=b-c
Multiplication Property of Equality Ifa=Dhb,thecnaec =Dbec,c=0.

- . a b
Division Property of Equality If a =b,then— =—,¢ # 0.

C C

Distributive Property a(b +c)=ab+ac
Substitution Property of Equality If a = b, then a can be substituted for b

(or b for @) in any equation or expression.

Reflexive, Symmetric, and Transitive Properties of Equality

Real Numbers Segment Lengths Angle Measures
Reflexive Property a=a AB = AB mZA = mZLA
Symmetric Property If a = b, then If AB = CD, then If mZA = mZB, then
b =a CD = AB. msZB = mZA
Transitive Property If a = b and If AB = CD and If mZ/ZA = msZB and
b = c, then CD = EF, then mzZB = mZC, then

a =_¢. AB = EF. mZA = m«ZC.



For each statement and its conclusion, state the definition, postulate, theorem, or property that justifies it.

1. Given: AM =WU
Conclusion: AM =WU

1Wh},r: 0:-{’9-? = fco)wurv“‘S

2. Given: E is the midpoint of BD
Conclusion: BE = ED

Why: _M :’Alpbur\* Them

3. Given: A bisects CT
Conclusion: a = H

Why: pef of o i re o

4. Given: CO = 0L
Conclusion: E = ﬁ

“Fh}.r; Da'r b‘c /\; g’?wds

5. Given: £DAY and £YAK are a linear pair.
Conclusion: £DAY & £YAK are supplementary

“Fh}r: ( 1neon pacey AL Sw. pnp.

6. Given: £TOM is the supplement of £SUE
Conclusion: m£TOM +m£SUE =180°

“i’h}r: Dl‘( l.r Suf/'- i}

7. Given: A and B lie in Plane JOG
Conclusion: A and B are collinear

Why: DA of  collineen pts

[

8. Given: A is in the interior of £GLD
Conclusion: m£LGLA+m£LALD =m£GLD

Why: Aﬂ;y{.( AJJ:?—-‘\..A Ioofl

9. Given: £1is the complement to £3
Conclusion: m£14m£3=90°

Why: 00—( oA cory - X—,S

10. Given: £HAM is vertical to <EAT
Conclusion: £ HAM = £FAT

“i’h}r: V(,l ° &"’ 'M”\

R N

11. Given:

Conclusion: U is the midpoint of RN

Why: M"Jpoifd Thm

<

Conclusion: £8 and £9 are vertical

12. Given:

Wh}r; DL“: 4‘ wt d .3 ,r

13. Given: mANAT + m£WED =90°
Conclusion: LNAT & LWED are complementary

Why: Daf g comp. ¥t

14. Given: FA=RM
Conclusion: FA=RM

Why: f)y!’ /’[ =z $M

15. Given: MA =TH
Conclusion: MA=TH

. re
Why: 01/{\'/]“ = <M

16. Given: m£AFD +m«£BAT =180°
Conclusion: £AFD & £BAT are supplementary

Why: Op‘{ll/ul Supp - Zf}

17. Given:
Conclusion: £FR0O = £0RG
Why: D,{) 4 Am;m Brseets

18. Given: m£2=mx<6
Conclusion: £2 = £6

Why: D“’( 4 Y ¥ ;‘




Name Date

1. Given:ﬁ&ﬂ K
To = AN ¢ E

Conclusion: I
8. Given:

~s

Justification: Dot 4“ = Sﬁj

Conclusion: m< 14+ w<5= 96

= 7
2. Given: E is the midpoint of BD Justification: {)y(\ 4) , p. 4 s
on: BE = Ey I ZEN
Conclusion: £ en ‘ BE . . .
Justification: M g1 Thm | Naf f M’JP+ 9. Given: T F G

Conclusion: EE + F6 - E (-
Justification: el’) . 74/0‘A ' ( ).
— 7

3. Given: A bisects E
Conclusion: (4= AT

Justification: boaé q Br;od‘\sr F D

E G

4. Given: CO=0L 10. Given:

—_— N —
Conclusion: Co ¥ ol

Conclusion: m¢ TEP+ v 2 DEG =m 2 [F £

&

) s ’
] Justification: 1 ’L S?/q Justification: AWA,M AJ/A. f ‘ d,

5. Given: £DAY and £YAK are a linear pair

11. Given: m£LABC = m£LHIT
Conclusion: {'/)Al/} X VAS/ Aot 5'144' Conclusion: JFA‘@(‘“ ¥ #Ij

. . . > 7/
. Lo M W
Justification: ¢ —— Justification: .&V‘/ y{ zZ xS

6. Given: £TOM is the supplement of £SUE
Conclusion: W4 T6M7w aSUE- /D

12. Given: £CAT and £RAP are vertical angles.

Conclusion: ¥ (AT = ¥ LA

fication: 1) 41 72
Justification: 9?% M:"f Justification: VoA x §
13. Given: £SAT = LACT
M 5 8
7. Given: v Conclusion:_ ™ ¢ SAT = meAcT
X =/ -
Conclusion: m<efms S /8 Tustification: /)gq 4‘ = ¥

Justification: Aereem W oL suptg

14. Given: A is in the interior of £GLD

Conclusion: M 2 €A Je N m ¥ 64D

/}n;/l/ Add. FPosS -

Justification:




15.

16.

17.

18.

19.

20.

Given: ﬁ Eﬁ
Conclusion: FA = < /J’

Justification: DA f = Ses
T4 7

Given: £AHAM is vertical to £FAT
Conclusion: X H74M = }/FA'T

/
Justification: Verd. 37 v

. | . ]

R U

Given:

Conclusion: RY % un \ Luzun

Justification: M P P IM"{ mPpP.

8
9
Given;

9
Conclusion: “4 8 74

Justification: '\/q{_l‘ T H v~

Given: m£NAT + m£WED =90°

Conclusion: X N I WED ane Lemp)d .

/
Justification: 00’( /Iu ey, 5

Given: UB bisects £RUY
Conclusion: % Eul Z {BM r

Justification: W—Mﬁ%—éw

21. Given:

Conclusion: \4 N nd ( 7 s w

Justification: £ e’ W L <

M/ !j_,,ar

&£ K

22. Given:

Conclusion:m/MIL+ A bEK 2 v 2T L

Justification: A'//l}'(/ /}QA AI—)

23. Given: £PAI and £IAR are a linear pair

Conclusion: £ AT At AR sre >

Justification: ] ML ,/JM/\? orr ﬂffﬂ/’ .

24. Given: £CAT and £RAP are complementary

angles.

Conclusion: ¥ (At | i ¥ kA7 - %

Justification: ’)g‘ % W' Y )

25. Given: mLNAT + m£WED =180°
Conclusion: l\/‘/AT L YWE V) st sy -
Justification: M % W \

26. Given: A is between J and M

Conclusion: j/’ AAM CG—/\/I
Justification: %7 ) m < /‘f/

———

— A ™




